Alle Rechte vorbehalten/ Al rights reserved

3

Cover screws (x.4)

Hexagonal head screwdriver g
for cylinder head cap screw L,//”’///—MZ,SXG,S
Part number : 61 003 600 0021 ®) (giari Type Z posidriv
3 Screwdriver head #1
% X
Q @,
EZEEEEEEE
L‘ _____ .
| . U | S
1 J L__|___,J
16,8 25 @
| " U ‘
l =)
~N
A\ )
) y
(o))
© =
j
ﬁ
X=0 X=3 X=1 X=2
NOTA :Full metal hood made L-40 UNCx16,9 M3x16,9 M3x17,5 | 4-40 UNCx17,5
with zinc diecast
| INDUCOM - 9 poles, full metal hood| ‘Sls
61 03 001 X010.010 Detail. 24704709 PK for D-Sub, g?rg?éhtucobT: :ntr;? Me
61 03 001 3010010 Knurled thonb screw M3 x 16,9 Insp. Al Dim. inm [ without internal grounding block 1 5:1
61 03 001 0010010 4-40 UNC x 16,9 Stand. Orig. Size DINA & e
61 03 001 2010.010 Cy”nder socket head Cap SCrew 4-40 UNC x 17,5 36163 [24/09/10 SC ~ Blott/ Page
61 03 001 1010.010 |with spring washer [2,6 DIN 12781 M3 x 17,5 |EC00339[24/04/09 PK Eéggé’;‘g EURI.‘ w 1B 61 03 001 X010010 1/
Part number crew type screw size Mod. Dat. Name aris Sub. 1




	Document View
	Title Box
	Total View

	Web Sites
	HARTING Home Page
	HARKIS WWW

	Check HARKIS Data
	61030010010010
	61030011010010
	61030012010010
	61030013010010


